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Compensating Differences

Define compensating differentials as the higher pay that a company must pay under perfect competition to compensate for bad working conditions.  Compensating differences are also called equalizing differences.

Economists often use the model of perfect competition as a benchmark. This model makes the following strong assumptions: 

Assumptions about method:

1. Examine equilibrium, after adjustments to shocks have taken place.  (Ignores transitions.)
2. The equilibrium is unique and stable. (Ignores multiple equilibria and self-fulfilling prophecies, where history can matter.)
Assumptions about agents:

3. Agents are infinitely rational. (Ignores bounded rationality, biases and heuristics, etc.)
4. Agents maximize fixed and exogenous preferences.  (Ignores social learning, norms, etc.)
5. Preferences are independent of others' actions and preferences.  (Ignores fairness, concerns for relative status, and conformism.)
Assumptions about markets:

6. All wages and prices adjust instantaneously. (Ignores frictions that might lead to recessions.)
7. Agents are price takers. That is, they have no market power. Thus, anyone can move costlessly to an identical seller or buyer if they don't like this one.  (Ignores monopoly.  Assumes zero costs of searching for and switching to new suppliers.)
8. There are no externalities or public goods. That is, my production and consumption decisions do not affect others.  (Ignores pollution, etc.)
9. There are no transaction costs. (Ignores costs of bargaining, monitoring, etc.)
10. Information is perfect.  (Ignores problems of incentives/moral hazard, and problems of selection, screening, and adverse selection.)
Under perfect competition, the need to pay compensating differentials implies that employers have an incentive to clean up cheap-to-fix hazards. If a hazard is worth $100 to the marginal employee, but costs $90 to clean up, then profits rise if the employer cleans up the hazard. That is, the firm prefers to pay $90 to clean up a hazard, not $100 to attract the marginal workers. 

If a hazard is only worth $85 to the marginal employee, but costs $90 per worker to clean up, then the marginal worker prefers the higher pay. The perfectly competitive outcome would be $85 of above-market pay, and the hazard.

If a particular worker did not care about the hazard, he or she would still get the higher pay because the marginal worker cared, and the employer needed to attract the marginal worker. For example, consider a deaf worker in a noisy engine room that raises the risks others will lose their hearing. Such a worker does not care as much about the hazards yet receives wages higher than he or she would at an alternative job. The payments that non-marginal workers receive to compensate the marginal worker for hazards are called "rents." That is, the deaf worker receives $85 more at this job than at an identical quiet job place because the marginal worker at a noisy engine room must be compensated for the risk of loss of hearing. 

The theory of perfect competition has three cheerful implications. If the assumptions hold:

1. The free market maximizes these rents to workers who don't care much about the hazard.

2. The market gives incentives to clean up hazards that are cheap to clean up, and distasteful to workers.

3. The market sorts workers into the best-fitting jobs. Employees who are tone deaf work as ushers at concerts of the aging Rolling Stones. In general, employees who find the conditions least disagreeable go there.

The implication is that under these assumptions safety regulation is a bad idea. If the government requires an employer to pay the $90 per worker to clean up the hazard, wages will fall by $85. The marginal worker is essentially indifferent (less noise is worth $85, and wages fall by $85.) The deaf worker and other inframarginal workers are worse off -- wages fall by $85, but they valued the hazard at < $85. Moreover, the higher labor costs of $90 per worker is larger than the decline in wages, so profits and employment at this firm will fall. (Employment may not decline nationally if the displaced workers put downward pressure on wages; then the result will be normal levels of employment but slightly lower wages.) 

Testing for Compensating Differences
For empirical tests, economists typically run:

log(wage) = b0 + b1 labor market experience +  b2 experience2 + b3 education (in years) 

+ b4 female + b5 · job is dangerous (as proxied by industry death rate)

For example, the coefficient on "Work in Alaska" is positive, suggesting a compensating difference for the cold weather and isolation.  Many studies find compensating differences for dangerous work; that is, employees who work in dangerous jobs receive higher wages (e.g., see the review in Brown, 1980). At the same time, many studies find no such compensating difference. 

Discussion questions
A) Identify two reasons the test may be poorly specified so that compensating differences are present, but not detected. 

B) Identify two exceptions to the assumptions of perfect competition that might lead to this empirical result.  For each exception, describe an appropriate public policy.

